4 3 - 2 1

'CLASSIC’ RAISED PANEL EMBOSS DOORS RAISE];CI‘;T:I}ZALGEEMHBDDUSSSE’DEIDRS SHE;:T' o o REVISIONS
MODEL.S 24 GA |24 GA INS| 25 GA |25 GA INS| 25 GA |25 GA INS MODELS 25 GA 25 GA INS REV. NO.| ZONE: | DATE: ECN _NO.| APPVD: DESCRIPTION
CLOPAY 84A, 94 = 73, 75 | 1500, 190 76 76V CLOPAY 16 - 07/2021 - JDW UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.
, , GDSS, GRSS |GDSSV, GRSSV

IDEAL 4RST, 4F%|  4RSF 6RST 6RSF 2RST - GALLERY
HOLMES 48, 48B == 42, 42B| 55, 558 - — , HOLMES | ARSS ARSSV

SHORT PANEL LONG PANEL ORISR THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC.

IDEAL ‘CARRIAGE| £D5S EDSSV
x - MODEL 4F IS FLUSH HDUSE’
T NST : FOR ANY OF THE MODELS SHORT PANEL

ILISTED ON THIS DRAWING, THE FOLLOWING W-LEVEL DOORS USE
EQUIVALENT SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON
THIS DRAWING).

W1, W2, W3, W4, W5. OPTIONAL GLAZING. SEE SECTION B—B ON
ANY OF THESE W—LEVELS MAY BE SHOWN ON THE OPTIONAL SHEET 2 FOR DETAILS. T M N S —
SHIPPING LABEL ON THE END STILE. 4 /911" - .
MAX. GLAZING SIZE IS 18-1/2"x11". INTERMED. STILE ATTACHED WITH TOG—L—LOC (TOP &
DOOR KEIGHT % OF ¢ OF L-BARS BOTTOM) AND URETHANE ADHESIVE (ALONG CENTER).
SECTIONS
UP 10 7°0° 4 4 7 ————— A END STILES ATTACHED TO DOOR
7'3° 10 8'9° 5 5 X i SKIN WITH PATENTED TOG-L-LOC
9'0° 70 10'6" 6 6 = X / SYSTEM (TOP, BOTTOM, & CENTER).
, ” ’ ” z
10°9" TO 12°3 Z 7 = SEE END HINGE
126" 10O 140" 8 8 . VIEW B.
14'3” 10 15'9° 9 5 o
160" 10 10 x
MAX SECTION HEIGHT: 21° 18
°_ | | SEE INTERMED. HINGE VIEW C. SLDE BOLT LOCK
-5 1] ONE PER INTERMED. STILE.
= " ENGAGES INTO
2 END VERTICAL TRACK.
rx M EACH SIDE OF
53 DOOR.
[
T
I
§9 \—TWO POINT LOCKING INS IDE_BOLT
Sl INTO TRACK. SNAP LATCH ENGAGES LOCK OPTION. END
i ONTO VERTICAL TRACK. gt
zC ONE SNAP LATCH ON .
= /—MOUNT U—BARS EACH SIDE OF DOOR.
4~ ABOVE HINGE/BOTTOM
BRACK ;
—_—= [ 11 === CRETTAS S2HEWH OUTSIDE
— ; HANDLE. LOCK BAR
OPTIONAL OUTSIDE KEYED Location oF _/ L A OUTSIDE END ENGAGES IN
LOCK POSITION OPTIONAL VENT KEYED STILE TRACK ON
MAX. DOOR WIDTH = 9'-0" HANDLE. g?cgo%gﬁ
INSIDE ELEVATION INSIDE HANDLE )
'CLASSIC' SHORT RAISED—PANEL SHOWN. LONG 'CLASSIC’ OUTSIDE KEYED LOCK WITH T L KETED O
____?ggr\ AND SHORT 'CARRIAGE HOUSE’ ARE ALSO APPROVED. SNAP LATCH LOCK OPTION. LOCK BAR LOCKING.
AREILTERY,
z cﬂ.-" Tood [}
.
7*: !
2 MARK WESTERFIELD #14x5/8" SHEET MANUF ACTURING PRODUCT CODE
TeARA RS R METAL SCREWS
% 91513 PAN-2F 151
0o DESIGN LOADS: +25.0 P.S.F. & —32.0 P.S.F.
"|‘%‘---§,{CEN5 wa e TEST LOADS: +37.5 P.S.F. & —48.0 P.S.F. PART NO.: N/A
il\\\ IONAL € 1T£ ;P)lﬁé 4SCSR%A'I:S Unless Stated Otherwise | (D ﬂl 8585 Duke Boulevard WINDLOAD RATING
SRR TOLERANCES or- | WAOPAY 13553 5559624800 \/\/ 4 D P 8 5
0= +031 |CORPORATION  Fax No. 513-770-4853
00 = +.015  |DESCRIPTION: CLASSIC AND CH RP STEEL PAN SC +25/-32 PSF
14 GA. HI 18 GA. INTERMEDIATE HINGE G008 = 100y [DRAWN BY: MW DATE: 9/23/96 | SCALE: NTS DWG.
DESIGN ENGINEER: VIEW "B" MEW _C° Degrees = *1/2° CHECKED BY: —--— DATE: —— SHEET 1 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 300159 VER: TDI

4 3 -~ 2 1




4 3 v 2 1

‘CLASSIC’ RAISED PANEL EMBOSS DOORS RAISEIIIC?"Z.:IEALGEEMHBDDUSSSEIDIJI]RS SHE;T' o i REVISIONS
MODELS 24 GA |24 GA INS| 25 GA |25 GA INS| 25 GA |25 GA INS MODELS 25 GA 25 GA INS REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY 844, 94 -- 73, 75| 1500, 190 | 76 76V CLOPAY 16 = = = = SEE REVISION HISTORY ON SHEET ONE.
) , GDSS, GRSS |GDSSV, GRSSV

IDEAL 4RST, 4Fx| 4RSF 6RST 6RSF 2RST - GALLERY
HOLMES 48, 48B — 42, 42B| 55, 558 — - 'AT%%??SY' ARSS ARSSV

H NEL

SHORT PANEL LONG PA e e

¥ — MODEL 4F IS FLUSH HOUSE" EDSS EDSSV
SHORT PANEL

STANDARD ASSEMBLY CONSTRUCTION:

OPTIONAL DSB OR 1/8" ACYRLIC LITES AVAILABLE. OPTIONAL ACRYLIC GLAZING IS
PLASKOLITE OPTIX OR LUCITE CP APPROVED CC2 PLASTIC IN ACCORDANCE WITH IBC/FBC
2606.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OR INTERNATIONAL BUILDING
CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REF. CHAPTER 16 FBC/IBC).

SECTION B—B (NON—IMPACT RESISTANT GLAZING OPTION)

FRONT FRAME WITH U.V. COATING ON OUTSIDE SURFACE.
NOTE THAT FRONT FRAME IS NARROWER THAN
IMPACT—RESISTANT FRAME.

)—E’"

€8 i
GLAZINGX

MOLDED INSIDE

LITE RETAINER.
#8x3/4" PAN HEAD SCREW
(10 SCREWS PER LITE).
STANDARD ASSEMBLY DETAILS
DRAWING 300159
‘\\\.\.\\\
:'é.‘% * T
*
/”* "'. MANUFACTURING PRODUCT CODE
éMARKWESTERFIE 7 /%1 . PAN-2F151
AT : SIGN LOADS: +25.0 P.SF. & —32.0 P.S.F.
"1}0 91513 G 7 TEST LOADS: +37.5 P.S.F. & —48.0 P.SF. PART NO.: N/A
\ o Xy ] Unless Stated Otherwise - 8585 Duke Boulevard WINDLOAD RATING
" Eoilemns i 22 z2/[2.]" TOLERANCES are ﬂlu pay e o 45060 U
WS/ON ec\ Tel. No. 513-770
W \\Q&\ 0= +.031 CORF'ORATION Fax No. 513~770-4853
638 = i-gég DESCRIPTION:  CLASSIC AND CH RP STEEL PAN SC +25/-32 PSF
0000 = +.001 |DRAWN BY: MW DATE: 9/23/96 | SCALE: NTS DWG.
SERSKI%NESTE';‘SQIDEEPRE Degrees = +1/2° |CHECKED BY: —- DATE: —— SHEET 2 OF 4 |SIZE
, P.E. Unless Stoted Otherwi
FLORIDA P.E. #48495 NC P.E. #23832. TEXAS P.E. #91513 D?Mel-:stSIO‘rti’se:REU‘ﬁnlﬁ(e:HEs. DWG. NO.: 300159 VER: TDI

4 3 > 2 1




4 3 4 2 1

'CLASSIC’ RAISED PANEL EMBOSS DOORS RAISEDE S NEL B B0 el DAORS SHEET' &F 2 REVISIONS
MODELS 24 GA 24 GA INS| 25 GA |25 GA INS| 25 GA |25 GA INS MODELS 25 GA 25 GA INS REV. NO.| ZONE: DATE: ECN_NO. | APPVD: DESCRIPTION
AT YT — 173 75 1500 130 | J¢ Ty, . ———— 16 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST, 4Fx|  4RSF 6RST 6RSF 2RST - ‘GALLERY’ . ’
HOLMES 48, 48B — |42, 42B| 55, 558 | -- = HOLMES ATES ARSSV
SHORT PANEL LONG PANEL ARTISTRY C 3 TALL U-BAR.
IDEAL ‘CARRIAGE]  ppec EDSSY ——I [ 2" THICK 20 GA. GALV. STEEL.
* - MODEL 4F IS FLUSH HOUSE” MIN. YIELD STRENGTH: 50 KSL.
SHORT PANEL
> |-
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 4
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: 25 GA. MIN. G—40 GALV. 1-7/8" “=.
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN STEEL SKIN WITH A \ T
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO BAKED—ON PRIMER AND A
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED BAKED—ON POLYESTER TOP |
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF COAT APPLIED TO BOTH F\_
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. SIDES OF STEEL SKIN. 12 GA. GALV. STEEL TOP ROLLER
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE BRACKET. EACH BRACKET ATTACHED
(WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER VA W/(4) #14x5/8" SHEET METAL
SHALL BE INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB VA SCREWS.
ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT
FASTENERS MUST BE OF A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE
THICKNESS OF THE WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO \
THE STRUCTURAL FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. SHIP LAP JOINTS. x
—| |—1/2* FROM EDGE 14 GA. GALV. STEEL END HINGE
| FASTENED TO END STILES W/(4) EACH
#14x5/8" SHEET METAL SCREWS & (4)
1/4” SELF TAPPING SCREWS.
™ 1# DENSITY POLYSTYRENE FOAM ] /
INSULATION 1-5/16" THICK WITH
VINYL HAIRCELL BACKER
(INSULATED MODELS ONLY).
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): ®
3/8"x3" LAG SCREWS ON 24" CENTERS. 1—1/8" MIN. 0.D. WASHER REQUIRED. LAG SCREWS .
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. 2 LSalt 28 a8 ATV SHECEL BSEaRs
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. — WA /_ 2#5\ C';i% SWEI‘T:;'O(";-) 15/“5,'" J%PASRELF
X
VERTICAL JAMB ATTACHMENT (C—90 BLOCK OR 2.000 PSI MIN. CONCRETE COLUMN): \ TAPPING SCREWS PER STILE LOCATION.
3/8"x3" SLEEVE ANCHOR BOLTS ON 24" CENTERS (2,000 PSI MIN. CONCRETE). WASHERS
INCLUDED WITH SLEEVE ANCHORS.
OR
1/4"x3" TAPCON SCREWS ON 24" CENTERS (2,000 PS! MIN. CONCRETE) OR 16" CENTERS
(C—90 BLOCK). 1" MIN. O.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.
13 GA. GALV. STEEL BOTTOM BRACKET.
OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR JAMB
L b
Y —
=SF OF }}g\ SEE ADDITIONAL DETAILS IN "CONNECTING JAMB TO EXISTING STRUCTURES" JAMB FASTENER SECTION A—A (SIDE VIEW)
P A N ANALYSIS CBPC—JFA—0001 (AVAILABLE ON TDI WEBSITE OR FROM MANUFACTURER).
- o .
7z : ‘* : NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE
7. RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND ANAISULIILICR b T U
g MARK WESTERFIELD IN ACCORDANGE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THE DRAWING. PAN-2F151
e DESIGN LOADS: +25.0 P.S.F. & —32.0 P.S.F.
','%'-.. 91513 TEST LOADS: +37.5 P.S.F. & —48.0 P.S.F. PART NO.: N/A
0K ) O Unless Stated Otherwise | (I 8585 Duke Boulevard WINDLOAD RATING
NCoieenseRy _ TOLERANCES o | g USHO ay fer THCR
WS/ONAL € Tel. ho. 5137704800 | \\/ /] D P 8 5
A\ e, 0 = +.031 CORF’ORA Fox No. 513-770-4853
O-gg = I-gég DESCRIPTION. CLASSIC AND CH RP STEEL PAN SC +25/-32 PSF
/{‘/ 0000 = +.001 DRAWN BY: MW DATE: 9/23/96 | SCALE: NTS DWG.
DERSIG"E‘STI':ENGINEER Degrees = +1/2° [CHECKED BY: -- DATE: —- SHEET 3 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwi
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 D&?NssmﬁseARE lﬁn:ﬁgHEs. DWG. NO.: 300159 VER: TDI

4 3 » 2 1




. , ‘CARRIAGE HOUSE’ SHEET:
CLASSIC’ RAISED PANEL EMBOSS DOORS RAISED PANEL EMBOSS DOORS 4 OF 4 REVISIONS
MODELS 24 GA |24 GA INS| 25 GA |25 GA INS| 25 GA |25 GA INS MODELS 25 GA 25 GA INS REV. NO.| ZONE: | DATE: ECN_NO. | APPVD: DESCRIPTION
= 16 - - - - SEE REVISION HISTORY ON SHEET ONE.
CLOPAY 84A, 94 73, 75 | 1500, 190 76 76V CLOPAY | GDSS, GRSS |GDSSV, GRSSV
IDEAL 4RST, 4F%|  4RSF 6RST 6RSF 2RST - GALLERY
HOLMES 48, 489B -— 42, 42B| 55, 558 -— -- 'A';%g%gw ARSS ARSSV
SHORT PANEL LONG PANEL
IDEAL ‘CARRIAGE E£D5S EDSSV
* - MODEL 4F IS FLUSH HOUSE’
SHORT PANEL
" DOOR COUNTERBALANCE SYSTEM
2" TRACK CONFIGURATION. e JAMB CONFIGURATION,
: : : HORIZONTAL TRACK

13 GA GALV. STEEL FLAG BRACKET ATTACHED TO
JAMB WITH (3) 5/16™ X 1-5/8" LAG SCREWS
AND TO TRACK WITH (2) 1/4" RIVETS.

NOTE: TRACK CONFIGURATION
ABOVE THE DOOR OPENING DOES
NOT AFFECT THE WIND LOAD
RATING OF THIS DOOR.

AS RQD: SPACING NTE 30" O.C.

62"+4" _ 2" GALV. STEEL TRACK,

TRACK THICKNESS: 0.060".

DOOR HEIGHT—-‘

z
(o)

TYP. 2-1/2" X 12 GA (0.098")
GALV. STEEL TRACK BRACKETS,
ATTACHED TO JAMB WITH (1)
5/16" X 1-5/8" LAG SCREW PER
TRACK BRACKET.

OPENING HEIGHT

DOOR
HEIGHT

6-6"

SUPPORT BY DOOR
INSTALLER (TO SUIT).

SYP WOOD JAMB. SEE
"JAMB PREPARATION NOTE".

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6" X 1-5/8"
LAG SCREWS.

2" GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS
WITH EITHER (2) 1/4" DIA. RIVETS OR
(1) 1/4" X 5/8" BOLT & NUT PER
TRACK BRACKET.

OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).

20 GA GALV. STEEL END STILE.
20 GA. MIN. GALV. STEEL INTERM. STILE.

3 .

18 GA. GALV. STEEL CENTER HINGE
FASTENED TO INTER. STILES W/(4) EACH
#14x5/8" SHEET METAL SCREWS.
14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (4) 1/4" SELF TAPPING SCREWS PER END HINGE.
2" DIA. SHORT STEM,

SECTION C-—C

10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

PREPARATION OF JAMBS BY OTHERS.

LHR BRACKET {2-1/2" x 5-3/4" x 12GA)

" IR |

DESIGN ENGINEER:

MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS.

DOUBLE TRACK
LOW HEADROOM OPTION

DOUBLE HORIZONTAL
TRACK.

MANUFACTURING PRODUCT CODE

PAN-2F 131
DESIGN LOADS: +25.0 P.S.F. & —32.0 P.S.F.
TEST LOADS: +37.5 PSF & —48.0 P.SF. PART NO.: N/A
l]‘l_ngsLsESﬁatedCOEtrgrwise ulu a 3585 Dghe‘gggéevl.?s!g WINDLOAD RATING
AN are ason,
Tel. No. 513-770-4800
0 = +.031 CORF’ORATION F:x Ng. 513-770-4853 \/\/ 4 D P 8 5
000 = 315 |DESCRIPTION: CLASSIC AND CH RP STEEL PAN SC +25/-32 PSF
0000 = +.001 |DRAWN BY: Mw DATE: 9/23/96 | SCALE: NTS DWG.
Degrees = +1/2° (CHECKED BY: —- DATE: —- SHEET 4 OF 4 |SIZE
Unl S i
DFMeI-ZstSIOth‘I,ée?\R%"m”lﬁgHES. DWG. NO.: 300159 VER: TDI

4




